ELEC 225
Circuit Theory I
Fall 2013
Selected Answers to HW #9
(revised 12/11/13)

Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
8.18
c. P = 0.65 W, Q = −2.4 VAR, pf = 0.26 leading


d. P = 123 W, Q = −147 VAR, pf = 0.64 leading


e. P = 1.52 W, Q = 0.133 VAR, pf = 0.99 lagging
8.19
a. Z = 1.15 + j0.67 
8.28
S = 3.0 + j15 VA
8.43
Zeq = 29 + j8.9 
8.46
a. pf = 0.84 lagging

b. C = 0.93 F
1.
[answer not yet available]
2.
pf = 0.997 lagging
3.
[answer not given]
4.
without capacitor in place: Iwo = 9.5 L −45.6° Arms


with capacitor in place: Iw = 6.7 L −4.4° Arms

5.
P = 4.0 kW, Q = 2.5 kVAR, pf = 0.85 lagging [12/11/13: corrected values for P and Q]
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